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Class : B.Com. Sem-lI
Sub.: Operations Research
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(20)  sl%e Aud = LFT - EFTV

MULTIPLE CHOICE QUESTIONS

Class : B.Com. Sem-II
Sub.: Operations Research

Q-1 Write appropriate answer from the given options.

(1)

(2)

(3)

(4)

Which word is used for the non-negative quantities representing the solution of given

linear programming problem?

(a) Decision variables (b) Positive variables  (c) Negative variables (d) Discrete
variables

Which word is used for the linear function of the decision variables which is to be

maximised or minimised?

(a) Subjective function (b) Objective functions (c) Quadratic function (d) Logarithmic
function

The graphical method can be used only when there are how many variables in a linear

programmingproblem?

(a) Single variable (b) Two variables (c) Three variables (d) Four variables

If the convex polygon of graphical method is not closed then the optimum solution is

obtained at any one of the available?

(a) Points (b) Vertices (c) Angles (d) Lines

In any transportation problem the formula for finding out total transportation cost is

denoted by Z=?

(8) {QUOTE Z = B2, 7, Cij Xij)

(b) {QUOTEZ =52, Xi; }

(c) {QUOTE Z = -, Xi) }

(d) None of the above

In North West corner method in which cell the first allocation is made ?

(a) North West Corner cell

(b) South West Corner cell

(c) North East Corner cell
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(d) South East Corner cell

(7) In matrix minima method or least cost method the first allocation is made in which cell of
the cost matrix?
(&) Minimum cost cell (b) Maximum cost cell (c) North West corner cell (d) South East

corner cell

() In balanced transportation problem the sum of supplies of all rows (origins) and sum of
the requirements of all columns (destinations) have which kind of relation?
(a) Both are equal (b) Both are not equal (C) One is greater than other (d)One is

less than other

(9) A transportation problem having 4 origins and 4 destinations. How many initial solutions
are possible?
(@ 7 (b) (c) (d) At most 7
(10)In assignment problem the number of rows (origins) and the number of columns
(destinations) have which kind of relations?
(a) Rows and columns are equal
(b) Rows and columns are not equal
(c) Rows are greater than column
(d) Rows are less than column
(11)In assignment problem each origin is associated to how many destinations?
(a) One destination  (b) Many destinations (C) Zero destination (d) None of
above
(12)If the problem is of maximisation of the objective function in Hungarian method of
assignment, the first step is to subtract each element of the matrix from which element of
the given matrix?
(a) Largest element
(b) Smallest element
(c) Next to largest element
(d) Next to smallest element
(13)In replacement problem it is advantageous to replace the old item by a new item at the
end of the year for which the average total cost should become?
(@) Minimum (b) Maximum (c) Zero (d) Next

to Maximum
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(14)How many solutions can be obtained for an assignment problem of order 4 X 4 matrix?

(@) 3 (b) 5 (© (d)4
(15)In PERT chart which notation is used for activity?
(@) - (b)¢ @ (d)-

(1 )In PERT chart which notation is used for event?
(@) Square (b) Rectangle (c) Triangle (d) Circle
(17) What is the time of dummy Activity?
(@) Maximum hours  (b) Minimum hours (c) Zero hour (d) None of the
above
(1 )Earliest Finishing Time (EFT) can be obtained by which formula?
(a) EFT =EST-T (b) EFT=EST+T (c) EFT=LST-T (d) EFT=LST+T
Where T is the time taken for the completion of an Activity.
(19)Latest Finishing Time (LFT) of an activity can be obtained by which formula?
(@) LFT=LST-T (b) LFT=EST-T (C) LFT=LST+T (d) EST=EFT-T

(20)Float time of each activity can be obtained by which formula?
(a) Float time = LFT + EFT
(b) Float time = LFT - EFT
(c) Floattime =LFT x EFT
(d) Float time = EST + LST

(21)What are the values of the float times of all the activities on the critical path?

(a) zero Hour (b) Time(T) (c)Latest starting time (LST) (d)
Earliest Starting Time ( EST)
(22)Which path of the PERT chart of given project is critical path?
(a) Longest path (b) Shortest path (c) Zero Hour path (d) None
of the above
(23)How do you interpret the critical time?
(a) Maximum time taken for the completion of the project
(b) Minimum time taken for the completion of the project

(c) zero time taken for the completion of the project
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(d) None of the above

Answers
(1) a (2)b (3)b (4)b (5)a ()a (7)a ()a (9d (10)a (11) a
(12)a (13)a

(14) d (15)a (1)d (17)c (1 )b (19)c (200b (21)a (22)a (23)a

MULTIPLE CHOICE QUESTIONS

Class : B.Com. Sem-11
Sub.: Operations Research

Q-2 Fill in the blanks by selecting proper word given from the bracket.(The answer of each
question is denoted by bold letter in bracket.)
(1) The set of values of the variables which satisfy the given liner constrains is known

as of the given linear programming problem. [solution, feasible
solution, optimal feasible]

(2) The set of non-negative values of the decision variables obtained under the given
constrains is known . [solution, feasible solution, optimal feasible
solution]

(3) The feasible solution which gives the optimum value of the objective function is

known as the . [solution, feasible solution, optimal feasible solution]
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(4) PERT method was developed by special project office in 195 . [Asian
Navy, US Navy, African Navy]
(5) CPM method was developed by and in

Company in 1957. [ T.L.Satty and Bear, Walker and Kelly, Du pont, Tata]

( ) The optimistic time to gives the time required to complete the
activity.
[maximum, minimum]

(7) The pessimistic time tygives the time required to complete the

activity. [maximum, minimum]

( ) The expected time t. can be obtained by average as followst,
. tl.'l + 4 tm +t
[Weighed,  geometric{ QUOTE te = 4‘?6 }{ QUOTE
e H
(9) The Earliest Starting Time (EST) of an activity is the time of

completing the preceding activities of different paths.[sum of maximum, sum of

minimum]

MULTIPLE CHOICE QUESTIONS

Class : B.Com. Sem-II
Sub.: Operations Research

Q-3 Whether the given below sentences are true or false. (The answer of each question is
given by symbol x for false and symbol for true.)
(1) North-West Corner method can be used for getting the solution of any given

linear programming problem. X
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(2) The common feasible region i.e. the area which satisfies all the constraints
simultaneously is called convex polygon in graphical method for solving any given
linear programming problem.

(3) In any industry the limited resources and capital should be allocated in such a way
that profit is maximum or the total cost is minimum. This is the main object of any
linear programming problem of industry.

(4) The technique used to optimise the given objective under different constraints is
known as linear programming.

(5) Matrix minima method can be used for solving any given assignment problem. X

( ) Hungarian’s method can be used for solving any given transportation problem. X

(7) Inany project if time or resources are used for any work it is called an activity.

( ) The result of an activity is called an event.

(9) In PERT method, the diagrammatic representation of all activities and events in
order, the diagram so obtained is called network.

(10) Float time = LFT-EFT.
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